Requisites, ordering concepts
Concepts are, in general, not mutually independent: the intensions constructed are, in general, not independent. 

Let P, Q be properties, say, of individuals (generalization is easy), let U be an (individual) office (also to be generalized). (Another kind of generalization: relations as properties of tuples.)

P is a requisite of Q ([0Req1 0P 0Q]) iff (w(t(x[0( [0Qwtx][0Pwtx]] 

P is a requisite of U ([0Req2 0P 0U]) iff (w(t(x [0( [0Ewt0U][0( [0= x 0Uwt][0Pwtx]]]

(E/ ((((()((, existence (‘being occupied in w,t’)

Req1/ ((((()((((()(()

Req2/ ((((()((((()

Examples:

vertebrate is a requisite of mammal, mammal is a requisite of whale;

human being is a requisite of the oldest physicist

Req1 is reflexive, antisymmetric, transitive. (Easily provable.) In the case of Req1 concepts can be ordered as follows:

If C1 constructs a requisite of the property constructed by C2 then this relation (C1 ( C2) is a relation of partial ordering of (equivalence classes of) concepts.
This ordering is a classical ordering based on inclusion between extensions of concepts.

The respective ordering (classification) depends on the choice of requisites.

CARNIVOROUS HERBIVOROUS  SNAKE TURTLE...          SONGBIRD BIRD​_ OF_ PREY        FRESHWATER F. SEA FISH


       MAMMAL                   REPTILE                                     BIRD                                                 FISH

                                                      VERTEBRATE

Individuals do not possess any non-trivial requisite. The notion of requisite is important only in connection with empirical concepts.

Req2 is not transitive or antisymmetric. This problem can be circumvented via reducing all requisites to relations between properties: Let U be an individual office, so / (((. The respective class (singleton or empty) is constructed as follows:

(w(t(x [0= x 0Uwt].

Then the requirement of existence is no more necessary and antisymmetry as well as transitivity is saved.

